Impromptu No. 2 in E-flat

Allegro (J- =¢.66)

3

Franz Schubert
Op. 90 (D. 899)

1 2

2 1 1

|

Pl
S B

ANCID

2N

y 2 legato

<

T
o

B

q
NG
BT
Sl

MRS
Dier

ST

¥

l[ i‘
& J W

@

3

I
I
—‘-"“
77
|
|
1
2

%4

1

‘I

T be

T

1 2

L
B
=

o\

¢
(1

J @

N1

T2~

T

e

%4

M\

i
'y

T‘:.:

8 X5

e

[

4

1

17

P N

[ )
od

|

|

O\

| —

i :

-

o
bz
(i

@ In measures 2, 10, and similar places, the parenthesized quarter rests are editorial. ~Schubert, probably writing in haste, evidently
overlooked the fact that what he’d written, taken literally, was impossible.






